
Accorder	dans	le	groupe	nominal

Fiche

Le	groupe	nominal	(GN)	est	composé	d'un	nom	(le	noyau),	de	son	déterminant	et	parfois	d'un	ou	plusieurs	adjectif(s).	Les	éléments

du	GN	s'accordent	entre	eux,	ils	doivent	avoir	le	même	genre	(masculin	ou	féminin)	et	le	même	nombre	(singulier	ou	pluriel).

Ex.	:	Le	petit	chien	se	promène.	(masculin	singulier)

Les	petits	chiens	se	promènent.	(masculin	pluriel)

La	petite	chienne	se	promène.	(féminin	singulier)

Les	petites	chiennes	se	promènent.	(féminin	pluriel)
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